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Code No.
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Candidates must write the Code on
the title page of the answer-book.

o PUASIE H W 1o 3T UHA-IT H G5 YIS 8 & AT 2 I8 Ao b & |

o UTA-UF T I BT H 3R KT T g TR il 1 SH-RAH & JE&-IL W 1@ |

o TS F G [ T UA-TTH 22 AT |

o HUAT YUY T IR feTa T I XA W UEet, U9 BT HHih Hayd fored |

o U RA-TA W UgH & o0 15 e 1 9 KA T § | SRA-0F o foeor qaed 7 10.15 &9
foFam ST 1 10.15 &1 & 10.30 S T B hael US-TF H UG 3R T4 7@ &k IR o
ITR-GETH T T I el fora |

e Please check that this question paper contains 8 printed pages and 2 pages of maps.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

WA (HFTTH)
GEOGRAPHY (Theory)
Freiie T - 3 v HfETH F 70

Time allowed : 3 hours Maximum Marks : 70

[T g
(i) meA B GET22 8|
(i) @ T AT E |
(iii) T T¥ & G 39 3 FIT TTE |
(iv) 797 G 1 G 7 d% 3T Tg-3RIT J97 b 375 & & | Jedah 79 1 7740 J15T G
31fére 81 &1 FET |
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v)

i)

(vii)

v G 8 T 13 TF Tg-3RIT Jv7 & | Jedah 797 3 37k F & | 9H T U g SR
TIT & | g% §9T BT 3T 80 T 100 ST 7 3w T8l g =new |

97 G 14 T 20 7% 5 FWIT 597 & | Fedh 597 F 5 b & | 97 T Hedh 5eT @
I 150 =51 G 37fer 81 &7 TR |

v &7 21 F 22 TEfT GE 79T 5-5 37 & & S BT 59 T8 A 7 9t
I 1 GEET, Rl o 3T AT #e & T &

(viii) TG 3R YR & [T T IGL-THfAT 31 3797 IT-GRAFT & & 7 37593 e HoT |

(ix)

G- Al a7 & forg @i srerar @fier & 73T # srgafd &1 s &

General Instructions :

(i)  There are 22 questions in all.

(ii)  All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(v)  Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(vi)  Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vii) Question numbers 21-22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(viii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

1. 37 ST ol SHEEIT Hee 1 U Hgweqol gosh Fai HHT ST € 2 T HROT ff@n | 1

Why is the age structure considered an important indicator of population
composition ? Give one reason.

2. 3 UE @ S ST A [ % Fewdol Ut § 7 36 e i Ui H a9 &I | 1
“Leading a long and healthy life is an important aspect of human development.” Give
an argument to support the statement.

3. “Y AR B F=Hd o7 HR H 9 & & 1”7 TF FHH Hl TWE HIWT | 1
“Agri-business farms are mechanized and large in size.” Examine the statement.

4.  Tov9 AR e (T, 21.31.) Tl HHEVUIA Bl TRE HIT | 1
Examine the functioning of World Trade Organisation (WTO).

5. SFOET 2011 % AR, YRA o Faleeh WeRaT g2 et 59 & AW Aty | 1

Name the state of India with highest literacy rate as per 2011 census.
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6. 9RA % YAl de W BT T W FHR-T0 -3 ¢ 2 1

Which major sea port on the eastern coast of India has a land locked harbour ?

7. 3R U 9RA & Gad g [T & M fAfEu | 1

Name the state of India with largest area.

8.  “UP 3R AT NUH H TaH! SIectal | g U & foh 3¢ Uh-g¥R & 3T =&l fohal ST |t
& 1 e T TEIE HITT | 3

“The nature and human beings are so intricately intertwined that they can’t be
separated.” Substantiate the statement.

9. i fU MW g 1 31T HIT AR IHF A9 T MW 991 & IR Al

TITeRTOT TR T
(9.1) TS 7T Uo7 SEAT UAET S GEE SIfTT 3T SHHT A1 @y |
(9.2) &5 7T YR & &1 H 39 UHR & Tt Udwed 3@ i fHerd € 2
(9.3) TE UBR F T U Y Th Hewaqul o fafau | 3x1=3

Study the diagram given below and answer the questions that follow :

=Y | - S

Rural Settlement Pattern
(9.1) Identify and name the given rural settlement pattern.
(9.2) In which type of areas do we find such type of settlement patterns ?
(9.3) Give an important characteristic of this type of settlement pattern.
e : AT 79 et gieartad qhenteat & T 7T 9 9 & ©IF W
(9.1) “UTHIUT I I16T I TRATT T |
(9.2) &Y fhE UK % & H Hehivl afedar urd & 2
(9.3) VIVl SfETET Sl Hewaqul Ueh fo@iedr fefam |
Note : The following questions are for the visually impaired candidates only in lieu
of Q. No.9:
(9.1) Define the term ‘rural settlement’.
(9.2) In which type of areas do we find dispersed settlements ?
(9.3) Give an important characteristic of dispersed settlements.
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10. ¥ ST T 3 &1 3183 ity 31 3HE A1 3T T g1 o ST fef@u -

(10.1) 39 3G ¥ ST T 327 T i Tgo DT 3T 3G AW @y |
(10.2) 39 @ &1 o A AT St 39 94 o o0 Sigel 3R FAT-IeR 3t 3TIfd 3 € |
(10.3) 38 G5 & feTd 5767 3TY(d o G 1 Sooi@ HIT | 3x1=3

Study the following diagram and answer the questions that follow :

To Kolkata

Panposh '_-:?g' e
A J\

e =k
WO

River Subarnarekha
4] Manganese G4

% Steel Plant
@ Limestone

<t .
o W Sulaipat

Yr Iron Ore

| Coal

= Railway

(10.1) Identify and name the steel plant shown in this diagram.
(10.2) Name the mining fields which supply coal and limestone to this plant.
(10.3) Mention the source of water for this plant.
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e : TAfcfad 7o Shae giteantia adeniaat & o 7o 9@ 10 % ©H W E

(10.1) IR@US T | feerd ST Tshidhd geiTd |43 o AW fafEu |

(10.2) Tire-3@aTd S | We fh=el 31 %ed ATel & 9 i@y |

(10.3) oiE 31T LT SENT I SR ST o &9 | 1 ST STl & 2

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 10.

(10.1) Name the two integrated steel plants located in the state of Jharkhand.

(10.2) Name any two raw materials used in the iron and steel industry.
(10.3) Why is iron and steel industry known as basic industry ?

11, “9Rd | STRET I o &ial & STANT 1 W HEAT TG 1 6T & 17 39 2 0l I
HIT | 3

“The promotion of the use of non-conventional sources of energy in India is the need
of the hour.” Support the statement.

12, “9Rd ® 3MYFH TR H ¥ ¢ Th TR ST 79 7 fgefad gu & 17 39 FoF &ty
HIT | 3

“Many of the modern towns in India were developed during the period of British
domination.” Substantiate the statement.

13.  “HFA-SG &l ooy eavasdret & T RT3 & 999" & ®9 § 3thd o7 9
ST AT FMET 1”37 Hedl Sl SARAT HINTT S AR STARTE 3l FHET % T | T8
o He & 9o & | 3

“The urban waste should be properly treated as a resource for various needs of

mankind.” Explain the values that can help in changing the urban waste into resources.

14,  “SHIHHT Th 9 FAT AU & 2 SHIThHT HhH [Hga bl dF TS % 9o
éiaQ | 2+3=5

What is ‘demographic cycle’ ? Describe three stages of ‘demographic transition
theory’.

15. Tl ot f9=an afaurees [owgatl o1 Sooia i U, Totardl IR[aRuT SR anfvry qe[e ae
T 3T T AT | 5x1=5
Differentiate between Nomadic herding and commercial livestock rearing, stating any
five points of distinction.
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16.

17.

18.

19.

20.

21.

YIS BT T 3 € 2 GOR H {2l TR 0T MY o fo¥eivur Shifey | 1+4=5

What is ‘tourism’ ? Analyse any four tourist attractions in the world.

“E S I A O e A A A A e S s e v, 2
foTe MR et gRT 1 M Xl & 17 39 2 & 9e | 3 IF1 el 1 ST Hewd W
FHIT | 2% +2%=5
“The Suez and the Panama canals are two vital man-made navigation canals which serve

as gateways of commerce for both the eastern and western worlds.” In the light of this

statement explain the economic significance of these two canals.

IRA H q&0T 3R &0 o Jar & HRUT STHT-3TeNT [l &, T DT | Fod & qaeRviyg
ROl T SeeiE HIfT | 2+3=5

Explain why the causes of male and female migration are different in India. Find out the

environmental consequences of migration.

“ AT AT T TOIRIAT TRAT T B TS GHEN € 1 T AT % &l &
foTT 3ur FeImew R 3w S HT | 2+3=5

“ ‘Erratic monsoon’ and ‘Indebtedness’ are the major problems of Indian agriculture.”

Suggest and explain the measures to overcome these problems.

TRT W Tgh! ol 0T THET FT -8l & ? S0 Wied R HiroTy | 5x1=5

Why is the distribution of roads not uniform in India ? Explain with examples.

HAR & 4T T Teiiiaes {@-qHEtes § o dimfers @&1or A, B, C, D 3R E % g1 91T 70
£ 1 37 IO Bt A S T SIHBRT S GerEdl § YgH-Y Y S Tél A 39 e @i

¢ Waret W fafEu - 5x1=5

(A) TRTN T a9 HH -G el 3
(B) SoraTH! TRTAROT AT &5

(C) WHE F-owH

(D) ST -

(E) @
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Five Geographical features shown on the given political outline map of the World as A,
B, C, D and E. Identify these features with the help of the information given below and

write their correct names on the lines marked near them :

(A) The country with lowest density of population in Asia.

(B) An area of nomadic herding.

(C) A major sea port.

(D) An Internatinal airport

(E) A megacity

A< : AT 79 Shaet giteaTtad qhieteat & T 7o 9&r 21 & S WE
(21.1) TR H Ga® HY SHEE a6t 337 61 A1 @y |
(21.2) 3TRIT § FTETE US[EROT 3 Hewaqul &5 1 91 fAEw |
(21.3) IR U & FHE! Uh TS FHRI-9H 1 A1 feAf@u |
(21.4) ST o TR Uk STRIET ag-U &1 A1 foAf@u |
(21.5) IR % THE TH B TGS H1 A fArEy |

Note : The following questions are for the Visually impaired candidates only in lieu of
Q.No.21:

(21.1) Name the country with smallest population in Asia.
(21.2) Name an important area of normadic herding in Africa.
(21.3) Name any major seaport in North America.

(21.4) Name any one international airport of Brazil.

(21.5) Name any one mega city of Europe.

22. WRA % U T TSI @r-AHtes ¥ Hefatad @ feifa suge et @ Kare ok 376
7 fefa 5x1 =5

(i) At -8 areT 9 (2011) |

(il) T HY ATHOT TGS AT T |
(iii) IR - ElE 3T G & |

(iv) FeH T qeT e HREMT |
(V) TS UIA {A-HUSHA H T |
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Locate and label the following on the given poltical outline map of India with

appropriate symbols.

(i)
(ii)
(iii)
(iv)
(v)

The state having the highest density of population (2011).
The state with smallest rural population.

Mayurbhanj — an iron ore mining area.

An oil refinery in Karnataka state.

The headquarter of South Central Railway Zone.

A ; FETArEd TvT Feet giteattad udteniert & fofT oo 9@ 22 & ©H W E

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

Note :

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

64/1/1

STRCT Y G ¥ TR T T TgT T i A1 8 2
FEY HH YMHIUT SHEEAT 9t T & 719 fef@w |
TRRHST wiiE-3Ta%ah &1 fohg T | feore € 2
HIeTE el I HREMT 5 59 | form € 2

I3 WA (A-HUSH o AT T A [AET |

The following questions are for the Visually impaired candidates only in lieu
of Q.No. 22 :

Which is the largest state of India in respect of area ?
Name the state having smallest rural population.

In which state is Mayurbhanj iron ore mining area located ?
In which state is Mangaluru oil refinery located ?

Name the headquarter of South Central Railway Zone.



I 9. 21 % forT e
Map for Q. No. 21
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